New Trends in Mathematical Sciences http://dx.doi.org/10.20852/ntmsci.2018.247

Some quantum estimates of opial inequality and some of its generalizations

Esra Gov and Orkun Tasbozan

Mustafa Kemal University, Faculty of Science and Arts, Department of Mathematics, Hatay, Turkey

Received: 16 October 2016, Accepted: 13 October 2017 Published online: 11 February 2018.

Abstract: In this paper, we obtain (p,q) –analogues of Opial integral inequality, involving (p,q) –derivatives of functions. We derive also some of the generalized versions of this integral inequality.

Keywords: Opial inequality; (p,q)-derivatives; (p,q)-integral; Hölder's inequality.

1 Introduction

In 1960 Opial established an integral inequality involving integrals of a function and its derivative which is stated as:

Theorem 1. [20]Let f be continuous function on [0,h] with f(0) = f(h) = 0, and f(t) > 0 in $t \in (0,h)$. Then

$$\int_{0}^{h} \left| f(t) f'(t) \right| dt \le \frac{h}{4} \int_{0}^{h} \left[f'(t) \right]^{2} dt \tag{1}$$

where the constant h/4 is the best possible.

Opial type inequalities play an important role in ordinary and partial differential equations for establishing the existence and uniqueness of initial and boundary value problems. In recent years, there have been numerous study deals with the simple proofs, various generalizations, discrete and fractional analogues of Opial inequality and some of its generalizations. In [29], the authors considered q-analogues of some Opial type inequalities and in [25] the authors prove some Opial type inequalities for conformable fractional integrals. See also, [1]-[7], [11]-[23], [26], [30], [31].

The object of this paper is to find (p,q) –analogues of Opial inequality and some of its generalized forms. Now, we give some theorems of generalization of Opial inequality which we use in the sequel.

Theorem 2. [26]Let ω be a nonnegative and continuous function on [0,a]. Let u be an absolutely continuous function on [0,a] with u(0) = u(a) = 0. Then the following inequalities hold:

$$\int_0^a \omega(t) |u(t)|^2 dt \le \frac{a}{4} \left(\int_0^a \omega(t) dt \right) \left(\int_0^a \left| f'(t) \right|^2 dt \right)$$
(2)

and

$$\int_{0}^{a} \omega(t) |u(t)u'(t)|^{2} dt \leq \left(\frac{a}{4} \int_{0}^{a} \omega^{2}(t) dt\right)^{\frac{1}{2}} \left(\int_{0}^{a} |f'(t)|^{2} dt\right).$$
(3)

^{© 2018} BISKA Bilisim Technology

77

2 Preliminaries

In this section, we recall some previously known concepts and basic results. The (p,q)-integers were introduced in order to generalize or unify several forms of q-oscillator algebras well known in the earlier physics literature related to the representation theory of single parameter quantum algebras. (p,q)-calculus is a generalization of q-calculus with the rule $0 < q < p \le 1$. The (p,q)-integers $[n]_{p,q}$ are defined by

$$[n]_{p,q} = \frac{p^n - q^n}{p - q}.$$

For each $k, n \in \mathbb{N}$, $n \ge k \ge 0$, the (p,q) –factorial and (p,q) –binomial are defined by

$$[n]_{p,q}! = \prod_{k=1}^{n} [k]_{p,q}, \ n \ge 1, \ [0]_{p,q}! = 1$$
$$\binom{n}{k}_{p,q} = \frac{[n]_{p,q}!}{[n-k]_{p,q}! [k]_{p,q}!}.$$

Definition 1. Let $f : \mathbb{R} \to \mathbb{R}$. The (p,q)-derivative of the function f is defined as

$$D_{p,q}f(x) = \frac{f(px) - f(qx)}{(p-q)x}, \ x \neq 0$$
(4)

provided that $D_{p,q}f(0) = f'(0)$.

(p,q) –derivative of a function is a linear operator. For any constants a and b,

$$D_{p,q}[af(x) + bg(x)] = aD_{p,q}f(x) + bD_{p,q}f(x).$$

The (p,q) –derivative of a product is given as

$$D_{p,q}[f(x)g(x)] = f(px)D_{p,q}g(x) + g(qx)D_{p,q}f(x),$$

= g(px)D_{p,q}f(x) + f(qx)D_{p,q}g(x).

The (p,q) –derivative fulfills the following product rules

$$\begin{split} D_{p,q}\left[\frac{f\left(x\right)}{g\left(x\right)}\right] &= \frac{g\left(qx\right)D_{p,q}f\left(x\right) - f\left(qx\right)D_{p,q}g\left(x\right)}{g\left(px\right)g\left(qx\right)} \\ &= \frac{g\left(px\right)D_{p,q}f\left(x\right) - f\left(px\right)D_{p,q}g\left(x\right)}{g\left(px\right)g\left(qx\right)}. \end{split}$$

The (p,q) –power basis is defined by

$$(x \oplus a)_{p,q}^n = (x \oplus a) (px \oplus qa) (p^2 x \oplus q^2 a) \cdots (p^{n-1} x \oplus q^{n-1} a)$$

and

$$(x \ominus a)_{p,q}^n = (x \ominus a) (px \ominus qa) \left(p^2 x \ominus q^2 a \right) \cdots \left(p^{n-1} x \ominus q^{n-1} a \right)$$

The following statements hold true:

$$D_{p,q}(x \ominus a)_{p,q}^{n} = [n]_{p,q}(px \ominus a)_{p,q}^{n-1}$$
(5)

78

$$\begin{split} D_{p,q}\left(\alpha x \ominus a\right)_{p,q}^{n} &= \alpha \left[n\right]_{p,q}\left(\alpha p x \ominus a\right)_{p,q}^{n-1}, \alpha \in \mathbb{C} \\ D_{p,q}\left(a \ominus x\right)_{p,q}^{n} &= -\left[n\right]_{p,q}\left(a \ominus q x\right)_{p,q}^{n-1}. \end{split}$$

Definition 2. Let $f : C[0,a] \to \mathbb{R}$ (a > 0) then the (p,q)-integration of f defined by

$$\int_{0}^{a} f(t) d_{p,q} t = (q-p) a \sum_{n=0}^{\infty} \frac{p^{n}}{q^{n+1}} f\left(\frac{p^{n}}{q^{n+1}}a\right) if \left|\frac{p}{q}\right| < 1$$
(6)

$$\int_{0}^{a} f(t) d_{p,q} t = (p-q) a \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} f\left(\frac{q^{n}}{p^{n+1}}a\right) if\left|\frac{p}{q}\right| > 1.$$
(7)

The (p,q) –integral on an interval defined as

$$\int_{a}^{b} f(t) d_{p,q}t = \int_{0}^{b} f(t) d_{p,q}t - \int_{0}^{a} f(t) d_{p,q}t.$$
(8)

If *F* is an antiderivative of the function *f* and *f* is continuous at t = 0

$$\int_{a}^{b} f(t) d_{p,q} t = F(b) - F(a)$$
(9)

and for any function of f, we have

$$D_{p,q} \int_{a}^{x} f(t) d_{p,q} t = f(x).$$
(10)

The formula of (p,q) –integration by parts is given by

$$\int_{a}^{b} f(px) D_{p,q}g(x) d_{p,q}t = f(x)g(x)|_{a}^{b} - \int_{a}^{b} g(qx) D_{p,q}f(x) d_{p,q}t.$$
(11)

For more details, see [4,5,8,9,24,27,28] and [12]-[19]. All notions written above reduce to the q-analogs when p = 1, see [10].

3 Main results

Theorem 3. Let f be an absolutely continuous and non-increasing function on $[0,a]_{p,q}$ with f(0) = f(a) = 0 and $0 < q < p \le 1$. Then

$$\int_{0}^{a} \left| f(pt) D_{p,q} f(t) \right| d_{p,q} t \leq \frac{a}{4} \int_{0}^{a} \left[D_{p,q} f(t) \right]^{2} d_{p,q} t.$$
(12)

Proof. Assume that

$$y(t) = \int_0^t |D_{p,q}f(s)| d_{p,q}s \text{ and } z(t) = \int_t^a |D_{p,q}f(s)| d_{p,q}s.$$
(13)

It is easy to see that

$$D_{p,q}y(t) = \left| D_{p,q}f(t) \right| = -D_{p,q}z(t)$$

and $|f(t)| \le y(t)$, $|f(t)| \le z(t)$. So, we have

$$\int_{0}^{a/2} \left| f(pt) D_{p,q} f(t) \right| d_{p,q} t \leq \int_{0}^{a/2} y(pt) D_{p,q} y(t) d_{p,q} t.$$

^{© 2018} BISKA Bilisim Technology

Under the assumptions and with integration by parts, we obtain

$$\int_{0}^{a/2} y(pt) D_{p,q} y(t) d_{p,q} t = y^{2} \left(\frac{a}{2}\right) - \int_{0}^{a/2} y(qt) D_{p,q} y(t) d_{p,q} t$$

$$\leq y^{2} \left(\frac{a}{2}\right) - \int_{0}^{a/2} y(pt) D_{p,q} y(t) d_{p,q} t$$

$$= \frac{1}{2} y^{2} \left(\frac{a}{2}\right).$$
(14)

Analogously, we have

$$\int_{a/2}^{a} \left| f(pt) D_{p,q} f(t) \right| d_{p,q} t \leq -\int_{a/2}^{a} z(t) D_{p,q} z(t) d_{p,q} t$$
$$= \frac{1}{2} z^{2} \left(\frac{a}{2}\right).$$
(15)

If we combine (14) and (15), we get

$$\int_{0}^{a} \left| f(pt) D_{p,q} f(t) \right| d_{p,q} t \leq \frac{1}{2} y^{2} \left(\frac{a}{2}\right) + \frac{1}{2} z^{2} \left(\frac{a}{2}\right)$$

From the definition of y(t) and Cauchy-Schwarz integral inequality, we have

$$y^{2}\left(\frac{a}{2}\right) = \left(\int_{0}^{a/2} \left|D_{p,q}f(t)\right| d_{p,q}t\right)^{2} \le \frac{a}{2} \int_{0}^{a/2} \left|D_{p,q}f(t)\right|^{2} d_{p,q}t$$
$$z^{2}\left(\frac{a}{2}\right) = \left(\int_{a/2}^{a} \left|D_{p,q}f(t)\right| d_{p,q}t\right)^{2} \le \frac{a}{2} \int_{a/2}^{a} \left|D_{p,q}f(t)\right|^{2} d_{p,q}t.$$

With adding these inequalities, we complete the proof.

Remark. When p = 1, (12) reduces to

$$\int_{0}^{a} \left| f(t) D_{q} f(t) \right| d_{q} t \leq \frac{a}{4} \int_{0}^{a} \left[D_{q} f(t) \right]^{2} d_{q} t$$

which is stated as Theorem 8 in [29]. If both p = 1 and $q \rightarrow 1$ (12) reduces to (1).

Theorem 4. Let r(t) be nonnegative and continuous on $[0,h]_{p,q}$. Let f be (p,q)-differentiable on $[0,a]_{p,q}$ with f(0) = f(a) = 0 and $0 < q < p \le 1$. Then the following inequalities hold:

$$\int_{0}^{a} r(t) |f(t)|^{2} d_{p,q} t \leq \frac{a}{4} \left(\int_{0}^{a} r(t) d_{p,q} t \right) \left(\int_{0}^{a} \left| D_{p,q} f(s) \right|^{2} d_{p,q} s \right)$$
(16)

$$\int_{0}^{a} r(t) \left| f(t) D_{p,q} f(t) \right| d_{p,q} t \leq \frac{a}{4} \left(\int_{0}^{a} r^{2}(t) d_{p,q} t \right)^{\frac{1}{2}} \left(\int_{0}^{a} \left| D_{p,q} f(s) \right|^{2} d_{p,q} s \right).$$
(17)

Proof. Assume that

$$y(t) = \int_0^t |D_{p,q}f(s)| d_{p,q}s \text{ and } z(t) = \int_t^a |D_{p,q}f(s)| d_{p,q}s.$$
(18)

It is easy to see that

$$D_{p,q}y(t) = |D_{p,q}f(t)| = -D_{p,q}z(t)$$
(19)

and

$$|f(t)| \le y(t), |f(t)| \le z(t).$$
 (20)

© 2018 BISKA Bilisim Technology

So, we have

$$f(t) \le \frac{y(t) + z(t)}{2} = \frac{1}{2} \int_0^a |D_{p,q}f(s)| d_{p,q}s.$$

From Cauchy-Schwarz inequality, we have

$$\int_{0}^{a} r(t) |f(t)|^{2} d_{p,q}t \leq \frac{1}{4} \int_{0}^{a} r(t) \left(\int_{0}^{a} |D_{p,q}f(s)| d_{p,q}s \right)^{2} d_{p,q}t$$
$$\leq \frac{1}{4} \left(\int_{0}^{a} r(t) d_{p,q}t \right) \left(\int_{0}^{a} d_{p,q}t \right) \left(\int_{0}^{a} |D_{p,q}f(s)|^{2} d_{p,q}s \right)$$
$$= \frac{a}{4} \left(\int_{0}^{a} r(t) d_{p,q}t \right) \left(\int_{0}^{a} |D_{p,q}f(s)|^{2} d_{p,q}s \right)$$

from which we obtain (16). Now, by using (16) and Cauchy-Schwarz inequality, we have

$$\begin{split} \int_{0}^{a} r(t) \left| f(t) D_{p,q} f(t) \right| d_{p,q} t &\leq \left(\int_{0}^{a} r^{2}(t) \left| f(t) \right|^{2} d_{p,q} t \right)^{\frac{1}{2}} \left(\int_{0}^{a} \left| D_{p,q} f(t) \right|^{2} d_{p,q} t \right)^{\frac{1}{2}} \\ &\leq \frac{a}{4} \left(\int_{0}^{a} r^{2}(t) d_{p,q} t \right)^{\frac{1}{2}} \left(\int_{0}^{a} \left| D_{p,q} f(s) \right|^{2} d_{p,q} s \right)^{\frac{1}{2}} \left(\int_{0}^{a} \left| D_{p,q} f(t) \right|^{2} d_{p,q} t \right)^{\frac{1}{2}} \\ &= \frac{a}{4} \left(\int_{0}^{a} r^{2}(t) d_{p,q} t \right)^{\frac{1}{2}} \left(\int_{0}^{a} \left| D_{p,q} f(s) \right|^{2} d_{p,q} s \right). \end{split}$$

Thus, the proof is completed.

Corollary 1. Under the assumptions of Theorem 4, when p = 1 in (16) and (17), we have

$$\int_{0}^{a} r(t) |f(t)|^{2} d_{q}t \leq \frac{a}{4} \left(\int_{0}^{a} r(t) d_{q}t \right) \left(\int_{0}^{a} |D_{p,q}f(s)|^{2} d_{q}s \right)$$

and

$$\int_{0}^{a} r(t) \left| f(t) D_{p,q} f(t) \right| d_{q} t \leq \frac{a}{4} \left(\int_{0}^{a} r^{2}(t) d_{q} t \right)^{\frac{1}{2}} \left(\int_{0}^{a} \left| D_{p,q} f(s) \right|^{2} d_{q} s \right)$$

which is the q-analogue of the formulas (16) and (17).

Remark. Also if we take both p = 1 and $q \rightarrow 1$, (16) and (17) reduce to (2) and (3).

Theorem 5. Let $m \ge 0$, $n \ge 1$ and $\lambda \ge 1$ be real numbers. Let f be (p,q) –differentiable on $[0,a]_{p,q}$ with f(0) = f(a) = 0 and $0 < q < p \le 1$. Then

$$\int_{0}^{a} |f(t)|^{\lambda(m+n)} d_{p,q}t \leq \left(\left(\frac{p^{m+n} - q^{m+n}}{p-q} \right)^{\lambda} R(\lambda) \right)^{n} \int_{0}^{a} |f(s)|^{\lambda m} \left| D_{p,q}f(s) \right|^{\lambda n} d_{p,q}s$$

$$\tag{21}$$

and

$$\int_{0}^{a} |f(t)|^{\lambda(m+n)} d_{p,q}t \leq \left[\left(\frac{p^{m+n} - q^{m+n}}{p - q} \right)^{\lambda} R(\lambda) \right]^{m+n} \int_{0}^{a} |D_{p,q}f(s)|^{\lambda(m+n)} d_{p,q}s$$
(22)

where

$$R(\lambda) = \int_0^a \left(t^{1-\lambda} + (a-t)^{1-\lambda} \right)^{-1} d_{p,q} t.$$
(23)

© 2018 BISKA Bilisim Technology

Proof. From the Definition of (p,q) –integral, we have

$$f^{m+n}(t) = \frac{p^{m+n} - q^{m+n}}{p - q} \int_0^t f^{m+n-1}(s) D_{p,q} f(s) d_{p,q} s$$
(24)

and

$$f^{m+n}(t) = -\frac{p^{m+n} - q^{m+n}}{p - q} \int_{t}^{a} f^{m+n-1}(s) D_{p,q}f(s) d_{p,q}s$$
⁽²⁵⁾

for $t \in [0, a]$. Applying Hölder integral inequality with the indices λ , $\frac{\lambda}{\lambda - 1}$ in (24) and (25), we obtain

$$|f(t)|^{\lambda(m+n)} \leq \left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} \left(\int_{0}^{t} |f^{m+n-1}(s)D_{p,q}f(s)|d_{p,q}s\right)^{\lambda}$$

$$\leq \left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} \left(\int_{0}^{t} d_{p,q}s\right)^{\lambda-1} \left(\int_{0}^{t} |f(s)|^{\lambda(m+n-1)} |D_{p,q}f(s)|^{\lambda} d_{p,q}s\right)$$

$$= \left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} t^{\lambda-1} \int_{0}^{t} |f(s)|^{\lambda(m+n-1)} |D_{p,q}f(s)|^{\lambda} d_{p,q}s.$$
(26)

Similarly, we get

$$|f(t)|^{\lambda(m+n)} \leq \left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} \left(\int_{t}^{a} \left|f^{m+n-1}\left(s\right)D_{p,q}f\left(s\right)\right| d_{p,q}s\right)^{\lambda}$$

$$\leq \left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} \left(\int_{t}^{a} d_{p,q}s\right)^{\lambda-1} \left(\int_{t}^{a} |f\left(s\right)|^{\lambda(m+n-1)} \left|D_{p,q}f\left(s\right)\right|^{\lambda} d_{p,q}s\right)$$

$$= \left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} (a - t)^{\lambda-1} \int_{t}^{a} |f\left(s\right)|^{\lambda(m+n-1)} \left|D_{p,q}f\left(s\right)\right|^{\lambda} d_{p,q}s.$$
(27)

Multiplying (26) by $t^{1-\lambda}$ and (27) by $(a-t)^{1-\lambda}$ and adding these inequalities, we have

$$\left(t^{1-\lambda} + (a-t)^{1-\lambda}\right)|f(t)|^{\lambda(m+n)} \le \left(\frac{p^{m+n} - q^{m+n}}{p-q}\right)^{\lambda} \int_0^a |f(s)|^{\lambda(m+n-1)} |D_{p,q}f(s)|^{\lambda} d_{p,q}s.$$

Therefore, we get

$$|f(t)|^{\lambda(m+n)} \leq \left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} \left(t^{1-\lambda} + (a - t)^{1-\lambda}\right)^{-1} \times \int_{0}^{a} |f(s)|^{\lambda(m+n-1)} |D_{p,q}f(s)|^{\lambda} d_{p,q}s$$

$$= \left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} \left(t^{1-\lambda} + (a - t)^{1-\lambda}\right)^{-1} \times \int_{0}^{a} |f(s)|^{\lambda m/n} |D_{p,q}f(s)|^{\lambda} |f(s)|^{\lambda(m+n-1)-\lambda m/n} d_{p,q}s.$$
(28)

Integrating (28) on [0, a], and applying Hölder integral inequality with the indices $n, \frac{n}{n-1}$, we obtain

$$\int_{0}^{a} |f(t)|^{\lambda(m+n)} d_{p,q}t \leq \left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} R(\lambda) \times \int_{0}^{a} |f(s)|^{\lambda m/n} |D_{p,q}f(s)|^{\lambda} |f(s)|^{\lambda(m+n-1) - \lambda m/n} d_{p,q}s \qquad (29)$$

$$\leq \left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} R(\lambda) \times \left(\int_{0}^{a} |f(s)|^{\lambda m} |D_{p,q}f(s)|^{\lambda n} d_{p,q}s\right)^{\frac{1}{n}} \left(\int_{0}^{a} |f(s)|^{\lambda(m+n)} d_{p,q}s\right)^{\frac{n-1}{n}}.$$

(21) is true if $\int_0^a |f(s)|^{\lambda(m+n)} d_{p,qs} = 0$. On the other hand if $\int_0^a |f(s)|^{\lambda(m+n)} d_{p,qs}$ is not equal to zero, by dividing both sides of (29) by $\int_0^a |f(s)|^{\lambda(m+n)} d_{p,qs}$ and taking the *n*th power on both sides of resulting inequality, we get the required



inequality (21).

For proving (22), we apply the Hölder integral inequality to (21) with the indices $\frac{m+n}{n}$, $\frac{m+n}{m}$ and we have

$$\int_{0}^{a} |f(t)|^{\lambda(m+n)} d_{p,q}t \leq \left[\left(\frac{p^{m+n} - q^{m+n}}{p-q} \right)^{\lambda} R(\lambda) \right]^{n} \times \left(\int_{0}^{a} |f(s)|^{\lambda(m+n)} d_{p,q}s \right)^{\frac{m}{m+n}} \left(\int_{0}^{a} \left| D_{p,q}f(s) \right|^{\lambda(m+n)} d_{p,q}s \right)^{\frac{n}{m+n}}.$$
 (30)

Dividing both sides of (30) by $\left(\int_0^a |f(s)|^{\lambda(m+n)} d_{p,qs}\right)^{\frac{m}{m+n}}$, and taking the $\frac{m+n}{n}$ th power on both sides, we obtain the required inequality (22).

Theorem 6. Let $m \ge 0$, $n \ge 1$, $k \ge 0$, $\lambda \ge 1$ be real numbers. Let f be (p,q)-differentiable on $[0,a]_{p,q}$ with f(0) = f(a) = 0 and $0 < q < p \le 1$. Then

$$\int_{0}^{a} |f(t)|^{\lambda(m+n)} \left| D_{p,q}f(s) \right|^{\lambda k} d_{p,q}t \leq \left(\left(\frac{p^{m+n} - q^{m+n}}{p-q} \right)^{\lambda} R(\lambda) \right)^{n} \int_{0}^{a} |f(t)|^{\lambda m} \left| D_{p,q}f(s) \right|^{\lambda(n+k)} d_{p,q}t$$
(31)

and

$$\int_{0}^{a} |f(t)|^{\lambda(m+n)} |D_{p,q}f(s)|^{\lambda k} d_{p,q}t \le \left(\left(\frac{p^{m+n} - q^{m+n}}{p - q}\right)^{\lambda} R(\lambda) \right)^{m+n} \int_{0}^{a} |D_{p,q}f(s)|^{\lambda(m+n+k)} d_{p,q}t$$
(32)

where $R(\lambda)$ defined by (23).

Proof. Applying Hölder inequality with the indices $\frac{n+k}{k}$, $\frac{n+k}{n}$ and by using (21), we have

$$\begin{split} &\int_{0}^{a} |f(t)|^{\lambda(m+n)} \left| D_{p,q}f(s) \right|^{\lambda k} d_{p,q}t = \int_{0}^{a} |f(t)|^{\lambda(mk/(n+k))} \left| D_{p,q}f(s) \right|^{\lambda k} |f(t)|^{\lambda(m+n)-\lambda(mk/(n+k))} d_{p,q}t \\ &\leq \left(\int_{0}^{a} |f(t)|^{\lambda m} \left| D_{p,q}f(s) \right|^{\lambda(n+k)} d_{p,q}t \right)^{\frac{k}{n+k}} \left(\int_{0}^{a} |f(t)|^{\lambda(m+n+k)} d_{p,q}t \right)^{\frac{n}{n+k}} \\ &\leq \left(\int_{0}^{a} |f(t)|^{\lambda m} \left| D_{p,q}f(s) \right|^{\lambda(n+k)} d_{p,q}t \right)^{\frac{k}{n+k}} \times \left[\left(\left(\frac{p^{m+n}-q^{m+n}}{p-q} \right)^{\lambda} R(\lambda) \right)^{n+k} \left(\int_{0}^{a} |f(t)|^{\lambda m} \left| D_{p,q}f(s) \right|^{\lambda(n+k)} d_{p,q}t \right) \right]^{\frac{n}{n+k}} \\ &= \left(\int_{0}^{a} |f(t)|^{\lambda m} \left| D_{p,q}f(s) \right|^{\lambda(n+k)} d_{p,q}t \right)^{\frac{k}{n+k}} \times \left(\left(\frac{p^{m+n}-q^{m+n}}{p-q} \right)^{\lambda} R(\lambda) \right)^{n} \left(\int_{0}^{a} |f(t)|^{\lambda m} \left| D_{p,q}f(s) \right|^{\lambda(n+k)} d_{p,q}t \right)^{\frac{n}{n+k}}. \end{split}$$

from which we obtain the desired inequality (31).

In order to prove (32), we apply Hölder integral inequality with the indices $\frac{m+n}{m}$, $\frac{m+n}{n}$ to the integral on the right hand side of (31), we obtain

$$\int_{0}^{a} |f(t)|^{\lambda(m+n)} |D_{p,q}f(s)|^{\lambda k} d_{p,q}t \\
\leq \left(\left(\frac{p^{m+n} - q^{m+n}}{p-q} \right)^{\lambda} R(\lambda) \right)^{n} \times \int_{0}^{a} |f(t)|^{\lambda m} |D_{p,q}f(s)|^{\lambda(mk/m+n)} |D_{p,q}f(s)|^{\lambda(n+k) - \lambda(mk/m+n)} d_{p,q}t \\
\leq \left(\left(\frac{p^{m+n} - q^{m+n}}{p-q} \right)^{\lambda} R(\lambda) \right)^{n} \left(\int_{0}^{a} |f(t)|^{\lambda(m+n)} |D_{p,q}f(s)|^{\lambda k} d_{p,q}t \right)^{\frac{m}{m+n}} \times \left(\int_{0}^{a} |D_{p,q}f(s)|^{\lambda(m+n+k)} d_{p,q}t \right)^{\frac{n}{m+n}}.$$
(33)

© 2018 BISKA Bilisim Technology

Dividing both sides of (33) by $\left(\int_0^a |f(t)|^{\lambda(m+n)} |D_{p,q}f(s)|^{\lambda k} d_{p,q}t\right)^{\frac{m}{m+n}}$, and taking the $\frac{m+n}{n}$ th power on both sides, we obtain the required inequality (32).

Corollary 2. Under the assumptions of Theorem 5 and Theorem 6, when p = 1 in (31) and (32), we have

$$\int_{0}^{a} |f(t)|^{\lambda(m+n)} \left| D_{q}f(s) \right|^{\lambda k} d_{q}t \leq \left(\left(\frac{1-q^{m+n}}{1-q} \right)^{\lambda} R(\lambda) \right)^{n} \int_{0}^{a} |f(t)|^{\lambda m} \left| D_{q}f(s) \right|^{\lambda(n+k)} d_{q}t$$
(34)

and

$$\int_{0}^{a} \left|f\left(t\right)\right|^{\lambda\left(m+n\right)} \left|D_{q}f\left(s\right)\right|^{\lambda k} d_{q}t \leq \left(\left(\frac{1-q^{m+n}}{1-q}\right)^{\lambda} R\left(\lambda\right)\right)^{m+n} \int_{0}^{a} \left|D_{q}f\left(s\right)\right|^{\lambda\left(m+n+k\right)} d_{q}t \tag{35}$$

which is the q-analogue of the formulas (31) and (32).

Remark. Also if we take both p = 1 and $q \rightarrow 1$, (31) and (32) reduce to the results given in [22].

Competing interest

The authors declare that there is no conflict of interests regarding the publication of this paper.

Authors' contributions

All authors have contributed to all parts of the article. All authors read and approved the final manuscript.

References

- [1] H. Alzer, An Opial-Type Inequality Involving Higher-Order Derivatives of Two Functions, Appl. Math. Lett. 10(4), 123-128 (1997).
- [2] PR. Beesack, On an integral inequality of Z. Opial, Trans Amer Math Soc. 104, 470-475 (1962), doi:10.1090/S0002-9947-1962-0139706-1.
- [3] R.C. Brown, M. Plum, An Opial-Type inequality with an integral boundary condition, *Proceedings of The Royal Society* **461**, 2635-2651 (2005).
- [4] Burban I. M. and Klimyk A. U., P,Q-differentiation, P,Q-integration and P,Q-hypergeometric functions related to quantum groups, Integral Transforms and Special Functions 2 (1994),15-36.
- [5] Chakrabarti R., Jagannathan R., A (p,q)-oscillator realization of two parameter quantum algebras, J. Phys. A: Math. Gen. 24(1991) 711–718.
- [6] WS. Cheung, Some generalized Opial-type inequalities, J Math Anal Appl. 162, 317-321 (1991). doi:10.1016/0022-247X(91)90152-P.
- [7] WS. Cheung, C.J. Zhao, On Opial-Type Integral Inequalities, Journal of Ineq. and Appl. Article ID 38347, (2007) doi:10.1155/2007/38347.
- [8] MN. Hounkonnou, J. Désiré, B. Kyemba, R(p,q)-calculus: differentiation and integration, SUT Journal of Mathematics, Vol. 49, No. 2 (2013), 145-167.
- [9] R. Jagannathan, KS. Rao, Two-parameter quantum algebras, twin-basic numbers, and associated generalized hypergeometric series, arXiv:math/0602613v1[math.NT], 27 Feb 2006.
- [10] V. Kac, P. Cheung, *Quantum Calculus*, Universitext, Springer-Verlag, New York, 2002.
- [11] JD. Li, Opial-type integral inequalities involving several higher order derivatives, J Math Anal Appl. 167, 98-100 (1992). doi:10.1016/0022-247X(92)90238-9.

- [12] M. Mursaleen, A. Alotaibi, K.J. Ansari, On a Kantorovich variant of (p,q)-Szász-Mirakjan operators, *Jour. Func. Spaces*, Volume 2016, Article ID 1035253, 9 pages.
- [13] M. Mursaleen, K.J. Ansari, A. Khan, On (p,q)-analogue of Bernstein operators, *Appl. Math. Comput.*, 266 (2015) 874-882 [Erratum: Appl. Math. Comput., 278 (2016) 70–71].
- [14] M. Mursaleen, K.J. Ansari, A. Khan, Some approximation results by (p,q)-analogue of Bernstein-Stancu operators, *Appl. Math. Comput.*, 264 (2015) 392–402 [Corrigendum: Appl. Math. Comput, 269 (2015) 744–746].
- [15] M. Mursaleen, F. Khan, A. Khan, Approximation by (p,q)-Lorentz polynomials on a compact disk, *Complex Anal. Oper. Theory*, 10 (2016) 1725–1740.
- [16] M. Mursaleen, Md. Nasiruzzaman, A. Khan, K.J. Ansari, Some approximation results on Bleimann-Butzer-Hahn operators defined by (p,q)-integers, *Filomat*, 30(3) (2016) 639–648.
- [17] M. Mursaleen, Md. Nasiuzzaman, A. Nurgali, Some approximation results on Bernstein-Schurer operators defined by (p,q)integers, J. Ineq. Appl., 2015 (2015): 249.
- [18] M. Mursaleen and Md Nasiruzzaman, Some approximation properties of bivariate Bleimann-Butzer-Hahn operators based on (p,q)-integers, *Bollettino dell'Unione Matematica Italiana*, DOI: 10.1007/s40574-016-0080-2.
- [19] M Mursaleen, A.M. Sarsenbi, T. Khan, On (p,q)-analogue of two parametric Stancu-Beta operators, J. Ineq. Appl., (2016) 2016:190.
- [20] Z. Opial, Sur une inégalité, Ann. Polon Math. 8, 29-32 (1960).
- [21] B. G. Pachpatte, Some inequalities similar to Opial's inequality , Demonstratio Math. 26(1993), 643-647.
- [22] B. G. Pachpatte, A note on some new Opial type integral inequalities, Octogon Math. Mag. 7 (1999), 80-84.
- [23] B. G. Pachpatte, On some inequalities of the Weyl type, An. Stiint. Univ. "Al.I. Cuza" Iasi 40 (1994), 89–95.
- [24] PN. Sadjang, On the fundamental theorem of (p,q)-calculus and some (p,q)-Taylor formulas, *arXiv:1309.3934v1 [math.QA]*, 2013.
- [25] MZ. Sarıkaya, H. Budak, Opial type inequalities for conformable fractional integrals, Preprint, 2016.
- [26] J. Traple, On a boundary value problem for systems of ordinary differential equations of second order, Zeszyty Nauk. Univ. Jagiello. Prace Mat. 15 (1971), 159–168.
- [27] M. Tunç, E. Göv, Some Integral Inequalities via (p,q) Calculus On Finite Intervals, Preprint, 2016.
- [28] M. Tunç, E. Göv, (p,q) Integral Inequalities on Finite Intervals, Preprint, 2016.
- [29] M. Tunç, E. Göv, q-analogues of Opial inequality and some new generalized formulas, Preprint, 2016.
- [30] C.J. Zhao, WS. Cheung, On Some Opial-type inequalities, Journal of Ineq. and Appl. 2011/1/7.
- [31] C.J. Zhao, WS. Cheung, On Opial-type inequalities for an integral operator with homogeneous kernel, *Journal of Ineq. and Appl.* 2011:123.